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Rav Yitzchok challenged it - PRXY 29 79 OpPNR

Overview

The X n3 first cited the view of ax that qww X7 71WRA DYT v 7w 92, so therefore
even if he forgot that he was ¥°1¥» and carried it out ano he is 2. The X 3 then
cited the view of PXmw K *"1 than one is 21 for carrying out one wheat kernel for
planting. Then the &7 cited the question of prix> . There is a dispute between "1
and MoIN whether the question of Pr¥® ' is on 2K or on 7717 2.

= MANN 72997 109092 WY
>'"w4 explained that the objection of Pr¥> 27 was directed towards %R —

mooin disagrees with >"wA:
= 2RO 1Y NPT 903 ININRT YD

And there is a difficulty with >"v"9, for why did the X732 wait until now to cite the
objection of prix> 17 —

mooin offers his interpretation:
= 1599 MAN AN A9TINT ONINDY 13939 DV 3577999 290 9IIN)

And n"72 297 says in the name of X™»w w29 that 77 277 72 piv M

challenged his father 77737° 29 -
= MY PRY 29 DY N 29N DYDY HNNX NN NIVINT NININRT 1999 1WIY9 29

And this is the explanation of his question; since you (777 27) said that one is

21 for carrying out one wheat kernel for planting , even though it is unusual, and

the reason is -
- 1)’5?2‘{ MNAYNN 9937 OvNn

Because we follow his intention -
= 55N9A 19229N) XYY INAYNN 9N D139 1522 Y9 NININD AWINYWS 93 NI

So here too when he intended to take out his whole house, we should follow his
intent and not hold him liable for less than he intended -

I'See X9 11"7 >"wA, who writes, Ry 7°% NAwWm) GWRI DYT 297 DWW NIARPTD 11700 7P NYTa PannT . anye R9R; this is the

view of »2X that we follow T11wXA nv7.

2 The x7»3 should have cited s'pry> " question right after s'"ax statement, and not wait until after the statement of >"9

OXMw MR, See ‘Thinking it over’ # 2.

3 This may be w""7un awn 12 701 'Y a Ta%0 of the 2"awA. (See 's MR 21737 aw # 2X that he was the son (?) of the

a"aw" and was called n"719 based on the P05 (in 23,9 [*1™] N*wWX12) which reads 701 N9 12).

4 This is presumably the 0"2w" (and Moo does not write W' Yar owa [see footnote # 3]).

> When he intended to remove everything from his house, but he actually removed less, he should not be 2, since it is

not what he intended. The question seems to be that just as we follow his intention X112, we should also follow it X71p5.
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Since that less than this amount (his whole house) is not significant in his eyes.

This was the nopni of prix® ' -
= 7191 /HND 123992 YN RN XIY DN 1PNT DN U5 HEN NYT NHVA 0NN %YM

And the X7 answered; ‘there (when he intended "2 %5 X°¥17%) his mind is
nullified by all people, for there is no person that even less than his entire house

would not be significant -
$NPYIINY NNX NVN DNY NIVYNY DTN 23 VI EXON HaN

However here (by the case of %Xmw 21K ") there are certain people that even
one wheat kernel is significant for them to plant it.

Summary
The prix> " 7°pnn is on MR (according to °"w7), and on 777 27 (according to '0IN).

Thinking it over

1. Why does nmo1n cite the s'k7m3 answer;’ is it any different according to msoIn
than according to *"w2?!

2. According to m9on could prx> ' have asked on *ax (as well)?!°

3.>"w understands'! 102 93 ®°¥177% 2wn to mean that he is taking it out in one time;
does NM»doIN agree with that?

4. Presumably by a majority of people one v is not significant; is the difference
then whether it is all people (by 102 %2 X°¥1119) or a majority of people (by nnx fvm)?

¢ See ‘Thinking it over’ # 1.
" All people would find that much less than his entire house is significant; therefore a8 3 23X 1y7 7901
8 Seemingly moon is answering that a 7awn» can make something insignificant into something significant (it is
significant for the person for whom it is significant), but a 7awn» cannot make something significant into something
which is not significant (even for a person who deems it insignificant).
? See footnote # 6.
10 See (footnote # 2 and) man MR and M7 .
' See aw n 7"7 "wA.
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